
1260Sc Studio Cycle
Owners Manual



2 Diamondback Fitness

Thank you for purchasing the
Diamondback Fitness 1260sc Studio Cycle!

Please read through this owners manual carefully.

For the most up to date info about using your console and our 
latest support videos, please visit www.diamondbackfitness.com

If you have any questions please contact our support team at
support@diamondbackfitness.com.

Although current at the time of this printing, specifications for this model may have 
changed in our continuing effort for improvement. Diamondback Fitness reserves the right 

to modify and improve the specifications of its products without prior notice.



1260Sc Owner's Manual 3

Every piece of Diamondback Fitness equipment 
is built for maximum safety and meets or 
exceeds all applicable domestic and international 
standards.  However, certain precautions must 
be taken when operating any piece of fitness 
equipment.  

NOTE:  Please read the entire owner’s manual 
before operating the unit. Save this manual for 
future reference.

Cautions – For Safe Operation
• Keep hands and feet away from all moving parts and 

pinch points. 

• If you have a history of heart disease, high blood 
pressure, diabetes, chronic respiratory diseases, 
elevated cholesterol, or if you smoke cigarettes or 
experience any other chronic diseases or physical 
complaints, consult with a physician before beginning 
any exercise program.

• If overweight or above the age of 35, consult with your 
physician before beginning an exercise program.

• Pregnant women should consult with their physician 
before beginning an exercise program.

• If you experience dizziness, nausea, chest pains 
or other abnormal symptoms during exercise, stop 
the exercise session immediately and consult your 
physician.

• Consume water before, during and after each exercise 
session.

Warnings – To Reduce the Risk of Injury 
to Yourself and Others
• To ensure proper functioning of your unit, do not 

install attachments or accessories not provided or 
recommended by Diamondback Fitness.

• Always wear proper clothing and shoes when 
exercising.

• User weight is not to exceed 300 pounds (136 Kg) for 
this unit. 

• Keep children away from the unit.  Hands and feet may 
become entangled with the moving parts and could 
result in serious injury.

Safety Instructions & Warnings
• Place the unit in an area that will meet minimum 

clearance requirements: 
 front & sides = 24 inches (61 cm) 
 rear = 12 inches (30.5 cm)

• The unit is intended for indoor use only.

• Place the unit on a solid, level surface. Always adjust 
the leveling feet before using to ensure stability.

• Ensure all adjustment knobs and levers are fastened 
securely before using the unit and after making an 
adjustment.

• Use the handlebars when stepping on and off the 
unit.

• The unit is heavy. Do not attempt to move alone.

• Never operate the unit if it is damaged or broken.   

• Please unplug the unit after exercising. 

• Always unplug the unit from the power source before 
moving or servicing.



4 Diamondback Fitness

Unpack Your Box

A: MAIN FRAME

E: HANDLEBARS

K: PEDALS

K1: LEFT K2: RIGHT

Unpack the box making sure all the parts are accounted for.

G: SADDLE

B: FRONT STABILIZER C: REAR STABILIZER

D: CONSOLE MASTL: CONSOLE M: DEVICE HOLDER H: BOTTLE HOLDER

A45: END CAP B4: M10 X 55 SCREW

A44: M6 X 10 SCREWH1: M5 X 12 SCREWM3: M4 X 16 SCREW

B5: WASHER L8: END CAP

TOOLS:

2.5 MM3 MM4 MM5 MM6 MM#13 #14 
#15 #16

Please don’t use 
power tools for any 
part of the assembly.



1260Sc Owner's Manual 5

Attach the Front and Rear Stabilizers
:straPyek xeh mm 6 :slooT

A : Main Frame
B : Front Stabilizer
C : Rear Stabilizer

B4 : M10x55 Screw
B5 : M10 Washer

Attach the rear stabilizer (C) onto the 
main frame (A) using screws (B4) and 
washers (B5) as shown. Tighten firmly 
with the provided 6 mm hex key.

Repeat with the front stabilizer 
(B), again using screws (B4) and 
washers (B5) as shown.

A

C

B4

B5

A

B

B4

B5

1

2



6 Diamondback Fitness

Assemble the Handlebars
:straP

E : Handlebars
 
 

A44
 

: M6x10 Screw
A45

 
: End Cap

Start by loosening the adjustment knob and push the 
red resistance lever down until it stops.

Sliding the handlebars (E) to the front and install the  
screw(A44) into the second hole position. Install the 
plastic end cap ( A45) to the end of the slide assembly  
as shown.

Finally, tighten the adjustment knob from the first step 
to finish the assembly.

A45

A44

1

2

3

E

Sliding the handle bar tracking housing onto 
the post.

yek xeh mm 5 :slooT



Attach the Console
Tools: 5 mm hex key Parts:

D : Console Tube
L : Console
L8 : End Cap

A44 : M6x10 Screw

Attach the console tube (D) using 2 screws 
(A44). Tighten one screw into the first hole 

 position and move onto the second screw. 
Finally , fully tighten both screws using 
the provided 5 mm hex key.

A44

D

L

L

L8

N-1-2

1

2

1260Sc Owner's Manual 7

A. Turn the console.
B. Threading the sensor wire (N-1-2) 

from the bottom up. (Pay attention 
to the threading direction.)

C. Connecting the sensor wire (N-1-2) 
and console's wire.

D. Finally, assembling the end cap (L8) 
onto the hole.



Attach the Tablet and Water Bottle Holders
Tools: #4 mm / #2.5 mm hex key Parts:

M : Device Holder
M3 : M4x16 Screw

H : Bottle Holder
H1 : Bottle Screws

Attach the device holder (M) onto the 
console mast (D) with 2 screws (M3). 
Start by securing the first screw in the 
lower hole. Then slide up the middle 
of the tablet holder and secure the 
second screw.

Attach the bottle holder to the main frame 
(A). Locate the 2 screws (H1) in water bottle 
holder bag. Use the provided 2.5 mm hex 
key and firmly tighten the screws to the 
holes in the main frame as shown.

Note: the console viewing 
angle can be adjusted forward 
and backward as shown.

M

D

M3

H

A

H1

1

2

8 Diamondback Fitness



Attach the Saddle and Pedals
Tools: #13 #14 #15 #17 Parts:

G : Saddle
K1 : Left Pedal

K2 : Right Pedal

G

Attach the saddle. 
Slide the saddle down 
onto the seat post and 
tighten the nuts on 
both sides equally until 
firmly secure using the 
provided tool.

Attach the pedals. Start with the 
rider's right pedal (K2). Begin by 
finger tightening the pedal onto 
the crank arm. Turn the right pedal 
CLOCKWISE.

Be sure not to cross thread the 
pedal. This could damage the 
pedal and crank arm.

Repeat for the left pedal (K1). 
However, turn the left pedal in 
COUNTER-CLOCKWISE direction.

After finger tightening as far 
as possible, finish with the tool 
provided, making sure both pedals 
are fully seated and tight against 
the crank arm.

K2 - RIGHT:
Clockwise Rotation

K1 - LEFT:
Counter-clockwise
Rotation

1

2

1260Sc Owner's Manual 9



Moving the 1260Sc is easy. Lift up using the handle attached to the 
front stabilizer bar until the wheels on the rear stabilizer bar touch 
the ground and begin to roll freely.

To adjust the seat and handlebars fore 
and aft, locate the corresponding knob. 
Loosen the knob, make the adjustments 
and firmly tighten the knob to secure.

To adjust the seat and 
handlebars up and down, 
locate the corresponding 
lever. Pull up to release the 
lever, make the adjustments 
and firmly press the lever 
down to secure.

Pedaling resistance 
is adjusted with the 
red lever attached 
to the handlebar 
mast. Move the lever 
up to increase the 
resistance. Press the 
lever down to decrease
the resistance.

Moving the 1260Sc and Final Adjustments

Handle

Wheels

For the most up to date info about using your console and our latest support videos, please visit 

10 Diamondback Fitness

www.diamondbackfitness.com



Maintenance

Maintenance Cont'dTroubleshooting

All Diamondback Fitness products are 
engineered for years of near-silent operation. 
Let noise be your first indication that a repair 
or adjustment is required. Please, discontinue 
use immediately and contact customer support 
or Diamondback Fitness Dealer if an unusual 
noise, scraping, knocking, grinding or vibration 
is detected.  Often, a minor issue will become a 
major repair if ignored and use is continued.

Prior to each workout, confirm that all 
adjustment levers and screws are tightened.

Tighten the crank arms once per month. Loose 
crank arms will become damaged and are not 
covered under the warranty.

Your Diamondback Fitness product is 
manufactured of the most durable materials 
available. The plastics are molded of strong and 
chemical-resistant ABS and PVC. The frame is 
produced of high-tensile steel and protected 
with an industrial-grade, powder paint coating 
for the highest level of corrosion resistance. It is 
important to note however, that perspiration can 
be extremely corrosive if allowed to accumulate 
on the machine. After training, always wipe 
down the unit with a mild soap solution followed 

Please do the following calibration if you 
suspect calories, distance, rpms, and watts are 
not being tracked accurately.

1.    Make sure the resistance lever is at the 
lowest position.

2.    Press the keys “UP & DOWN” at the same 
time until level 1 shows on the display.

3.    Press the key “UP” until level 16 shows on 
the display, then adjust the resistance lever to 
the highest position.

4.    Finally, press the key “ENTER.RESET”. Warranty Information
Diamondback Fitness warrants this unit to be 
free from defects in material and workmanship 
under normal use in the home environment. 
Diamondback Fitness’s obligation under this 
warranty is limited to the repair or replacement 
of any defective part, provided free of charge. 
This warranty is extended to the original 
purchaser.  The following conditions apply: 

Who is Covered
The warranty is extended to the individual 
whose name appears on the original sales 
receipt and may not be transferred to any other 
individual or legal entity. 

To Obtain Service
To obtain service, you must contact 
Diamondback Fitness customer support at 
support@diamondbackfitness.com

Proof of Purchase
Proof of purchase from a Diamondback Fitness 
Authorized Dealer or Diamondbackfitness.com 
will be required.

What is Covered – For Interior Residential Use 
Only.
Note: If proof of purchase cannot be 
confirmed, the Warranty’s coverage period 
will begin on the date six (6) months after the 
date of manufacture.

by a thorough drying with a clean towel. 
Positioning a small spray bottle and towel near 
the unit will help ensure that your Diamondback 
Fitness equipment looks new for many years.

Note: Perspiration is very corrosive and 
if allowed to remain on the machine, will 
cause discoloration, fading, rust and odors.  
Unfortunately, these conditions are not 
covered under the Warranty Policy.

1260Sc Owner's Manual 11



Note: Limited lifetime refers to warranty 
coverage of the unit’s expected service 
life, not the lifetime of the purchaser. The 
expected lifetime of this unit is five (5) years 
from the date of purchase although other 
factors can extend this period.  Support and 

or impossible after this period expires.

Voided Warranty
The warranty does not apply to any failure 
of the product or its components due to 
alterations or modifications, misuse and abuse, 
accidental damage, lack of maintenance 
or improper assembly.  Improper assembly 
can be avoided if the unit is assembled by 
an authorized technician.  Damage due to 
improper assembly is not covered by the 
warranty.  Common assembly errors can include 
damaged wire harnesses, stripped screws and 
nuts, crank arms or damaged threads.

If the serial number has been removed, altered 

voided.

Parts & Service
Contact the Diamondback Fitness support or 
the dealer that originally sold the unit. If you 
have moved, or the retailer is unavailable, 
contact us at support@diamondbackfitness.com 
to help locate an alternate Authorized Dealer.

Diamondback Fitness is not responsible for 
securing warranty service and/or honoring 
extended warranties provided by dealers.

NOTE: Authorized service technicians do 
not reside in all areas of the country. If you 
live beyond the reasonable service area of a 
metropolitan area, Diamondback Fitness may 
not be able to support the labor portion of 
the product warranty. Travel fees charged by 
technicians are not covered by the warranty.

Other Exclusions
The warranty for this unit is void if it is placed in 
commercial or light commercial environments 
such as health clubs, schools, hotels, 
condominium common areas, correctional 
facilities, or any other non-residential setting. 
The warranty will not be honored if this unit is 
employed for commercial or rental purposes. 
This unit is for indoor use only.

Additional Rights
This Warranty is expressly in lieu of all other 
warranties, and any implied warranties of 
merchantability or fitness for a particular 
purpose created hereby, and are limited to 
the same duration as the express warranty 
herein.  Diamondback Fitness shall not be liable 
for any incidental or consequential damages.  
Some states do not allow the exclusion or 
limitations of implied warranties, incidental or 
consequential, so the above limitations and 
exclusions may not apply to you.

Retailers and wholesale outlets for 
Diamondback Fitness products are not 
authorized to modify this warranty in any way.

This warranty gives the original owner specific 
legal rights.  Other additional rights may vary 
from state to state.

Warranty Information Cont'd

Frame : Limited lifetime warranty; 
covers defects in welds, 
materials and workmanship 
(some exclusions apply).

Brake : 3 years

Parts & 
Electronics :

1 year

Labor : 90 days

12 Diamondback Fitness









For the most up to date info about using your console and our 
latest support videos, please visit www.diamondbackfitness.com

If you have any questions please contact our support team at
support@diamondbackfitness.com.


